
Name: ___________________________________ 

Pascal’s Triangle 
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What numbers are 

missing? 

How much does each row 

add up to? 

__ 

__ 

 
__ 

 
__ 

 
__ 

 

__ 

 

Hint: 

Add the two numbers 

above each snowflake to 

get the next number. 

Exponents of 11: 

110 = _______ 

111 = _______ 

112 = _______ 

113 = _______ 

114 = _______ 
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For More Information: https://www.mathsisfun.com/pascals-triangle.html 
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What numbers are 

missing? 

How much does each row 

add up to? 

1 

2 

 
4 

 
8 

 

16 

 

32 

 

4 6 

5 5 10 10 

Exponents of 11: 

110 = 1 

111 = 11 

112 = 121 

113 = 1331 

114 = 14641 

115 = 161051 (add the 1 in 

10 to the 5 on the left side; 

add the 1 in 10 to the 0) 
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